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	100 - 10 = 90

100 - 20 = 80

100 - 30 = 70
	100 - 40 = 60

100 - 50 = 50

100 - 60 = 40
	100 - 70 = 30

100 - 80 = 20

100 - 90 = 10


· Calcule

	100 - 10 = 90
200 - 20 = 180
300 - 30 = 270
500 - 50 = 450
850 - 50 = 800
1 980 - 100 = 1 880
2 540 - 200 = 2 340
5 550 - 500 = 5 050
	150 - 10 = 140
250 - 20  = 230
550 - 50 = 500
735 - 30 = 705
955 - 50 = 905
875 - 300 = 575
5 555 - 500 = 5 055
11 485 - 400 = 11 085
	110 - 10 = 100
120 - 20 = 100
210 - 20 = 190
220 - 10 = 210
451 - 50 = 401
1 632 - 500 = 1 132
5 408 - 600 = 4 808
87 006 - 400 = 86 606
	130 - 10 = 120
380 - 40 = 340
590 - 70 = 520
990 - 80 = 910
1 540 - 200 = 1 340
3 670 - 600 = 3 070
2 666 - 700 = 1 966
79 350 - 800 = 78 550


· Pose en colonnes et calcule :

	999 - 356 = 643
	578 - 99 = 479
	2 008 - 684 = 1 324
	2 457 - 1 065 = 1 392

	9 9 9

-  3 5 6

6 4 3

	
	51718

- 1  19 9

4 7 9
	
	2 010 8

-    16 8 4

1 3 2 4
	
	2 4 517

-  1 016 5

1 3 9 2
	

	8 956 - 7 149 = 1 807
	8 659 - 3 941 = 4 718
	15 007 - 5 961 = 9 046
	9 325 - 4 780 = 4 545

	8 9 516

-  7 114 9

1 8 0 7

	
	816 5 9

-  13 9 4 1

4 7 1 8
	
	1 51010 7

-   1519 6 1

9 0 4 6
	
	91312 5

-  1417 8 0

4 5 4 5
	


· Complète :

	211 713

-  11 915 8
2 1 5 
	41513 5

-  1217 8 2
 1 7 5 3
	1 3141112

- 1  151417 3

 7 9 3 9
	7 0 0 7

-   1 0 0 6

6 0 0 1


	713 515 

-   13 612 8

3 7 2 7 
	411 6 9

-  11 2 4 9

2 9 2 0
	5 618 8 

-   412 9 1

 1 3 9 7
	9 61012

-   31515 3

6 0 4 9


	2 71513 6

-    1215 6 1
 2 4 9 7 5
	5 4 61110

-  2 01418 3
 3 4 1 2 7
	5151012 1

-  141911 7 0
5 8 5 1 
	711151416

-  14131618 9

2 7 8 5 7


